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 BPY-010  

BACHELOR’S DEGREE PROGRAMME  

(BDP PHILOSOPHY) 

Term-End Examination 

June, 2022 

 

ELECTIVE COURSE : PHILOSOPHY 

 BPY-010 : EPISTEMOLOGY 

Time : 3 hours Maximum Marks : 100 

Note :  Answer all five questions. All questions carry equal 

marks. Answers to Questions no. 1 and 2 should be 

in about 400 words each. 

 

1. Give an account of the important theories of 

truth. 20 

OR 

 Explain the Indian theories of perception. 20 

2. Examine the salient features of Kantian 

epistemology. 20 

               OR 

 Write an essay on knowledge as social praxis. 20 
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3. Answer any two of the following questions in 

about 200 words each : 

(a) Explain Locke’s theory of knowledge. 10 

(b) Bring out the different kinds of inference. 10 

(c) Explain rationalism and empiricism as 

alternatives to skepticism. 10 

(d) Give an account of the foundationalist 

epistemology. 10 

4. Answer any four of the following questions in 

about 150 words each : 

(a) Describe actuality and potentiality with 

reference to Aristotle. 5 

(b) What is naturalized epistemology ? 5 

(c) Explain briefly the concept of ‘sabda’ in 

Indian systems. 5 

(d) What is the significance of coherence as a 

response to foundationalism ? 5 

(e) What is the traditional definition of 

knowledge ? 5 

(f) Describe David Hume as a skeptic.  5 
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5. Write short notes on any five of the following in 

about 100 words each : 

(a) Feminism 4 

(b) Cartesian Doubt 4 

(c) Synthetic A Priori Judgements 4 

(d) The Crisis of Modern Epistemology 4 

(e) Immediate Inference 4 

(f) Sannikarsa 4 

(g) Ecological Approach to Perception 4 

(h) Substance and Accidents 4 
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 ~r.nr.dmB©.-010  

 ñZmVH$ Cnm{Y H$m`©H«$_  
(~r.S>r.nr. Xe©ZemñÌ)  

gÌm§V narjm 
OyZ, 2022 

 

EopÀN>H$ nmR>çH«$_ : Xe©ZemñÌ 

~r.nr.dmB©.-010 : kmZ_r_m§gm 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> : g^r nm±M àíZm| Ho$ CÎma Xr{OE & g^r àíZm§o Ho$ A§H$ g_mZ h¢ & 
àíZ g§. 1 Am¡a 2 Ho$ CÎma bJ^J 400 eãXm| (àË`oH$) _| hmoZo 
Mm{hE & 

 

1. gË` Ho$ _hÎdnyU© {gÕm§Vm| H$m {ddaU Xr{OE & 20 

AWdm 

 àË`j g§~§Yr ^maVr` {gÕm§Vm| H$s ì`m»`m H$s{OE & 20 

2. H$m§Q> H$s kmZ_r_m§gm H$s _w»` {deofVmAm| H$m narjU 

H$s{OE & 20 

           AWdm 

 gm_m{OH$ AmMma Ho$ ê$n _| kmZ na EH$ {Z~§Y {b{IE & 20 
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3. {ZåZ{b{IV _o| go {H$Ýht Xmo  àíZm| Ho$ CÎma bJ^J  

200 eãXm| (àË`oH$) _| Xr{OE : 

(H$) bm°H$ Ho$ kmZ Ho$ {gÕm§V H$s ì`m»`m H$s{OE & 10 

(I) {d{^Þ àH$ma Ho$ AZw_mZm| H$m {ddaU Xr{OE & 10 

(J) g§XohdmX (g§e`dmX) Ho$ {dH$ënm| Ho$ ê$n _| ~w{ÕdmX 
Am¡a AZw^ddmX H$s ì`m»`m H$s{OE & 10 

(K) AmYma^yVdmXr kmZ_r_m§gm H$m {ddaU Xr{OE & 10 

4. {ZåZ{b{IV _o| go {H$Ýht Mma  àíZm| Ho$ CÎma bJ^J  

150 eãXm| (àË`oH$) _| Xr{OE : 

(H$) AañVy Ho$ gÝX^© _| dmñV{dH$Vm Am¡a g_W©Vm H$m dU©Z 
H$s{OE & 5 

(I) AZwHy${bV (Xoer`H¥$V) kmZ_r_m§gm Š`m h¡ ?  5 

(J) ^maVr` Xe©Z _| à`wŠV ‘eãX’ Ho$ àË`` H$s g§{já 
ì`m»`m H$s{OE & 5 

(K) AmYma^yVdmX H$s à{V{H«$`m Ho$ ê$n _| g§gº$Vm H$m 
Š`m _hÎd h¡ ? 5 

(L>) kmZ H$s naånamJV n[a^mfm Š`m h¡ ? 5 

(M) S>o{dS> øy_ H$m EH$ g§XohdmXr Ho$ ê$n _| dU©Z H$s{OE & 5 
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5. {ZåZ{b{IV _o| go {H$Ýht nm±M  na bJ^J 100 eãXm| 

(àË`oH$) _| g§{jßV {Q>ßn{U`m± {b{IE : 

(H$) ZmardmX 4 

(I) H$mVu` g§Xoh 4 

(J) g§íbofUmË_H$-nydm©Zw^m{dH$ {ZU©` 4 

(K>) AmYw{ZH$ kmZ_r_m§gm H$m g§H$Q> 4 

(L>) VËH$m{bH$ AZw_mZ 4 

(M>) g{ÞH$f© 4 

(N>) àË`j H$m nm[apñW{VH$s` ÑpîQ>H$moU 4 

(O) Ðì` Am¡a AmJ§VwH$ JwU 4 


